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AlE OETATEJ 1 Al*ejgoj%t 2 BOD TOC SS T-N T-P [0 T

=S | ™3 o) | mgy) | @) | meny | wmgmy | ol/me
HMets e Chn 2,000 43 145.1 68.1 167.5 43.7 4.4 73,066.7
Mt e A 2,000 4 152.7 66.7 162.8 38.6 4.2 79,600.0
etk AFA 800 48 115.5 34.4 135.3 31.6 3.4 43,666.7
M2 ot 500 48 117.7 36.6 127.6 29.7 3.0 43,400.0
HMets e A 500 4 115.2 50.6 129.9 32.2 3.4 37,080.0
MetE e o™ 120 48 172.5 66.6 185.0 45.2 4.0 60,000.0
M= A7) 90 48 116.8 30.7 157.0 30.2 3.4 32,000.0
MetE e et 85 48 130.6 45.8 135.0 26.1 3.5 50,000.0
HMetsE 4t 80 4 128.8 33.3 131.0 34.3 3.3 36,250.0
Mote o Sty 80 48 140.7 43.9 133.0 36.4 3.8 37,750.0
Hetse | =234 70 4 134.0 27.4 109.0 31.8 3.0 37,000.0
MetE e QFof 70 4 131.2 38.5 123.0 37.7 3.8 28,250.0
MEE e = 70 4E 118.1 17.0 125.0 29.8 2.9 33,500.0
MEfE S 60 4 147.6 43.4 117.0 40.9 3.6 45,000.0
MEE e =X 40 4 117.8 41.0 92.0 39.1 4.1 32,000.0
MetE e =4 40 43 144.0 30.9 112.0 41.9 3.9 33,000.0
MElE HEY 40 4¢ 129.0 13.1 88.0 18.8 3.1 50,000.0
MetE e nps 35 4 125.3 41 1 104.0 447 5.0 38,000.0
MEfE e Q|2 35 4 140.3 20.4 128.0 35.7 4.0 35,000.0
Mte e S At 25 48 130.9 19.1 112.0 17.1 3.8 45,000.0
e 57 42 - - - - - -
Mefsz| o 50 42 - - - - - -
datgE | 7 60 44 - - - - - -
HMetsE g4 48 42 - - - - - -
Hets: 4= 45 48 - - - - - -
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BOD TOC SS T-N T-P T H ]

(mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (7 /me) P

2.6 41 3.0 9.5 0.1 16.6 6.8

3.6 4.9 3.6 11.2 0.2 16.8 6.6

1.8 4.2 2.5 7.0 0.2 3.5 6.7

2.0 41 2.4 8.6 0.0 1.5 6.7

1.7 4.7 1.7 8.9 0.1 0.2 6.8

6.0 8.1 4.6 11.3 0.9 14.5 6.8

3.2 6.3 4.2 11.8 1.2 9.0 6.8

3.3 6.2 3.8 12.5 1.0 36.0 7.0

4.5 7.1 4.0 11.7 0.9 19.3 6.8

4.7 5.9 4.7 12.0 0.4 13.0 6.8

3.5 2.5 4.6 11.9 0.3 24.3 6.8

4.3 6.9 3.7 12.5 1.1 16.3 6.7

4.7 3.4 3.4 12.2 1.0 9.3 6.7

4.2 6.5 41 11.7 0.8 20.8 6.8

41 9.1 3.8 11.1 1.5 18.0 6.8

4.4 7.9 4.8 12.1 0.7 19.0 6.7

5.0 6.8 3.8 9.8 1.2 65.0 6.7

4.7 6.8 4.2 111 1.9 25.0 6.6

4.6 8.5 4.4 12.1 0.8 16.0 6.6

4.3 4.3 2.8 10.8 1.2 20.0 6.8
- - - - - - - ALH Mo o2 22
- - - - - - - ALH Mo o2 B2
- - - - - - - 2 HANE
- - - - - - - Al 4
- - - - - - - HEo=Z AA KNz
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